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MLAL (Semester-11) Examination, June-2025
( Regular/Backlog)
ECONOMICS
( Industrial Economics-2 )

[ Paper : Second ]

Time A[[mved : Three Hours
Maximum Marks : 70

Note : Question paper is divided into four sections. Attempt
question of all four sections as per direction. Distribution

of marks is given in each section.
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Section-A /| @is-H

(Objective Type Questions)

(aegfrs us)
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1o : Attempt all questions. Each question carries 1 mgpy
Note : (10x1210 (a)  Bhilai

(b) Bokaro

et U B I R SH 99T 1 80 gy

(c) Tata Nagar

(i) Who for the first timeg gave a scientific theory of

Industrial locations (d) Rourkela

(@)  Sonen Field @ FE B aEn e e gl d
fepar mar er?

(b) Loanhert
(@) P

(c) Prof. E. A. Rosch
(b)  &rERY

(d) Alfred Weber
(c) BRI

e T SlElf RIFEERT & O Juifs ;

Ry g e 7 @

(@) N B (iii) er which'Fi\./e Year Plan heavy industrialization was
given priority?

b 'ﬁ g g

) (a) First

() W. W Aw ) Secomd

(d) TS IR (c)  Third

(ii) The first localisation of Steel Industry was done (d) Fourth
in the town of :
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Ty oMl B SR B Gt g
§ Qe

(a) WA
by fedm
() Tdm

Industrial Finance Corporation of India Limited wag

established in :

(@) 1dJuly, 1964

(b) 16 Feb,1976

(c)  1July, 1948

(d) 1 July, 1956

AR SR o e o we g
(@) 13, 1964

(b) 16 HA,1976

(c) 13, 1948

(d) 1 8, 1956
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(v) Which of the following does not come under New
Economic Policy ?
(a) Liberalization
(b) Globalization
(c) Privatization
(d) Socialization
fret § & PF-m 7+ onfds Aify 3 o AL
3T 27
(@)  SEEHRT
(b)  edimTr
(c)  FofERwr
(d)  FHEIET

(vi) Due to what reason the activities of Multinational
Corporation have increased in India ?
(a) Financial Improvement
(b) Land Reform
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(c) Administrative Reforms

(b) 1964
(d)  None of the above

(c) 1970
R § sgasia Fd @ R @6 sro
EX% %? (d) 1975

(vii)  Sargent Flourence's Theory is based 0N .-

- W analysis.
b
. A RN & BT ... fergarger g STTETd
(c) muEM®H AR %
d) SWH 7 q P T8 (ix)  Indian Iron and Steel company has includedd in

Public Sectorintheyear................. .

ST TR W Wi HI S qEss A o

(vi)  When was the First Industrial Policy of India

anounced after Indepencence?

i TS 7 onfrer fear Tmm

(a) 1960
(x) IDBI bank established in the year :

(b) 1964

TR Slefs e 3% @1 wiEr ad L.
(c) 1970 7
(d) 1975 Section-B / @S-
Wazral 9 ARG B fstaet Gﬁ'éﬁﬁ‘liﬁ EIGECE (Very Short Answer Type Questions)
q7g & ?

& (st @y Swda we)

(a) 1960
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Note : Attempt any five questions. Each question carries 2

marks. (Word limit : 25-30 words)

[5x2=1q)

Rl U WeA B SR ST TS A9 2 St g7 Y
(st EPT : 25-30 91=)

2. (i)

(i)

(i)

(iv)

v

(vi)

What is Privatisation in India?

R 7 fsiieer @ 87

What is Multinational Company?

TS FF F 27

What is the meaning of Industrial Localization?

SRR I & ol 4y B?

What is the meaning of Balanced Regional

Development?

dgfera & famr @ @ o 27
What is Balance Sheet?

& e w7 87

What is debenture?

ROE T 37
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Note :
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(vii)

What s Statutory Liquidity Ratio?
Jufrep TR STUR 7

Section-C / vs-g

(Short Answer Type Questions)

(vg SwE )

Attempt any five questions. Each question carries 4

marks. (Word limit : 250 words)

[5%4=20]

Rt dfe met & S AR Wd% g9 4 aiE @ 2
(s g : 250 91=)

0]

(ii)

State the difference between Small Scale and

Cottage Industry
Y T4 HER I A SR o=l

What do you mean by disinvestment? Discuss

its impact on Industrial Development in India.

Ry ¥ omg & guEe ¥ 9Ra § P
e W 3% e @ FrEr v
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(ii)

(iv)

(vi)

(vil)

Write a note on Economic Reforms and as Public

Sector.
o GuR wd A & T Rue R,
What are the main functions fo IDBI?

TR e e 3% 3 98w Ry ¥y

Discuss the factors affecting the localization of

Industries.

T B MG H TG B AW HRoy
H e B

Discuss the Localization Factor and co-efficient

of localization.

TMIEHT A T RIERT 6 & AR
it

What should be the main objective of Regional

Industrial distribution of a country.

frelt 21 A S & & e & g IR
F1 T =@mRT?
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Section-D /| ug-g
(Essay Type Questions)

(Fears ug)

Note : Attempt any three questions. Each question carries 10

marks. (Word limit :500 words)

[3%x10=30]

f5dt @9 et & SaR AT 5% wew 10 SR H
21 (sr= G : 500 =)

4. (0]

(i)
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What are the main objectives of India’'s new
Industrial Policy? How far has it been successful
in the rapid Industrial growth of the country?

Discuss.

IRA B T S Ay S g g 49T 87
& & i STl R 7 98 Ha o b g8
1 e i

Critically examine the Industrial Localisation theory

of Alfred Weber.

ITHE AW BN uUiRd TR ®IHEEer 3
e i STEHS A i)

[P.T.O.]




(i) Critically examine the effects of GIOba“ZatiO
n

. on
Indian Industry.

(v} What are the Problems and Prospectg of Syg,
r

and Iron Industry in Sarguja? Discuss.

mﬁiﬁﬁaﬁaﬁst@wﬁwﬁw
T 0 %7 R i,

(V) What is Industrial Pollution? What Measyreg

should be taken for Environmenta| Protection of
Industria] area? Discuss,

eﬂﬁrﬁzsuzww%?aﬁa‘rﬁﬁs%a%qﬁw
W%%ﬁwmﬁsﬁwﬁmmﬁm
HIfoTT|
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